



On The Classification of 3-Cyclic/4-Cyclic Refined Neutrosophic Real and Rational Von Shtawzen's Group

Nabil Khuder Salman^{1,*}, Maikel Leyva Vazquez², Batista Hernández Noel³

¹AL-Farahidi University, Baghdad, Iraq

²Universidad Regional Autónoma de los Andes Sede Babahoyo (UNIANDES Babahoyo). Ecuador

³Universidad Regional Autónoma de los Andes (UNIANDES Babahoyo), Ecuador

Emails: nsalman@uofarahidi.edu.iq; direccionbabahoyo@uniandes.edu.ec;
ub.coordinacionac@uniandes.edu.ec

Abstract

This paper aims to solve the group of units problem for 3-cyclic real and rational refined neutrosophic rings and 4-cyclic real and rational refined neutrosophic rings, where ring isomorphisms between the real/rational 3-cyclic and 4-cyclic refined neutrosophic rings and the direct product of some field extensions of \mathbb{Q} and \mathbb{R} . These isomorphisms will help in classifying the group of units of each studied ring in terms of direct products of classical well-known abelian groups. Also, we use the classification isomorphisms to determine all ideals in these classes of algebraic rings.

Keywords: 3-cyclic refined neutrosophic ring; 4-cyclic refined neutrosophic ring; Von Shtawzen's group; group of units

1. Introduction

The group of units classification is considered as one of the most well-known open problems in ring theory [9]. This problem concerns with writing the group of units of a given ring as direct product of known groups [10-11]. The concept of n -cyclic refined neutrosophic rings and modules was proposed in [12] as a novel extension of classical rings. These rings opened a wide door for the study of group of units problem.

The group of units for 2-cyclic integer refined rings was studied by Sadiq [1], and it was classified as the direct product $Z_2 \times Z_2 \times Z_2$. In [7], Sankari, and Abobala solved the problem for the rational and real 2-cyclic refined rings by building an algebraic isomorphism between the 2-cyclic refined rational/real ring and the direct product of \mathbb{Q} or (\mathbb{R}) with itself three times. Also, algebraic homomorphisms between 2-cyclic rings and plithogenic rings were presented in [8].

The group of units problem for 3-cyclic and 4-cyclic refined rings of integers was studied by Von Shtawzen in [2-3], where the classification of the group has been linked with non-linear Diophantine equations by two conjectures. These conjectures were totally proved by the efforts of Sankari and Abobala in [6], where authors proved that the groups of units (It is also called Von Shtawzen's groups) of 3-cyclic/ 4-cyclic refined rings of integers are finite with order that is divisible by 6 and 8 respectively.

In [4], Basheer et.al proposed more than 30 open problems about n -cyclic refined rings and algebraic structures. Most of them are still open research problems.

In [5], Katy et. Al have generalized Von Shtawzen's conjectures by the following conjecture:

Generalized Von Shtawzen's conjecture: The group of units of the integer n -cyclic refined ring is finite with order that is divisible by $2n$. (It is still an open problem).

In this paper, we study the classification of Von Shtawzen's group in four different special cases, and we classify the desired groups as direct product of well-known abelian infinite groups in the rational/real cases.

For definitions of 3-cyclic/4-cyclic refined rings, see [6].

2. Main results

Theorem:

Let Q be the rational field, $Q_3(I)$ be the corresponding

3- Cyclic refined ring, then $Q_3(I) \cong Q \times Q \times Q(i\sqrt{3})$.

Proof:

Define $f: Q_3(I) \rightarrow Q \times Q \times Q(i\sqrt{3})$ such that:

$$f(x_0 + x_1I_1 + x_2I_2 + x_3I_3) = (x_0, x_0 + x_1 + x_2 + x_3, x_0 - \frac{x_1+x_2}{2} + x_3 + \frac{\sqrt{3}}{2}i(x_1 - x_2))$$

f is well defined

$$\text{If } X = x_0 + \sum_{i=1}^3 x_i I_i = y = y_0 + \sum_{i=1}^3 y_i I_i,$$

then $x_i = y_i \ 0 \leq i \leq 3$, and $f(x) = f(y)$, that is because:

$$\begin{cases} x_0 + x_1 + x_2 + x_3 = y_0 + y_1 + y_2 + y_3 \\ x_0 - \frac{x_1+x_2}{2} + x_3 + \frac{\sqrt{3}}{2}i(x_1 - x_2) = y_0 - \frac{y_1+y_2}{2} + y_3 + \frac{\sqrt{3}}{2}i(y_1 - y_2) \end{cases}$$

f preserves addition / multiplication operations.

For $X = x_0 + \sum_{i=1}^3 x_i I_i, y = y_0 + \sum_{i=1}^3 y_i I_i \in Q_3(I)$, then

$$x + y = (x_0 + y_0) + \sum_{i=1}^3 (x_i + y_i)I_i,$$

$$x \cdot y = x_0y_0 + (x_0y_1 + x_1y_0 + x_1y_3 + x_3y_1 + x_2y_2)I_1 + (x_0y_2 + x_2y_0 + x_1y_1 + x_2y_3 + x_3y_2)I_2 + (x_0y_3 + x_3y_0 + x_1y_2 + x_2y_1 + x_3y_3)I_3$$

$f(x + y) = (M_0, M_1, M_2)$, where:

$$M_0 = x_0 + y_0, M_1 = \sum_{i=0}^4 (x_i + y_i),$$

$$M_2 = x_0 + y_0 - \frac{1}{2}(x_1 + y_1 + x_2 + y_2) + (x_3 + y_3) + \frac{\sqrt{3}}{2}i[(x_1 + y_1) - (x_2 + y_2)],$$

hence $f(x+y) = f(x) + f(y)$.

$f(x \cdot y) = (M_0, M_1, M_2)$, where:

$$M_0 = x_0y_0, M_1 = \sum_{i,j=0}^3 x_i y_j = (\sum_{i=0}^3 x_i)(\sum_{j=0}^3 y_j),$$

$$M_2 = x_0y_0 - \frac{1}{2}(x_0y_1 + x_1y_0 + x_1y_3 + x_3y_1 + x_2y_2 + x_0y_2 + x_2y_0 + x_1y_1 + x_2y_3 + x_3y_2) + (x_0y_3 + x_3y_0 + x_1y_2 + x_2y_1 + x_3y_3) + \frac{\sqrt{3}}{2}i(x_0y_1 + x_1y_0 + x_1y_3 + x_3y_1 + x_2y_2 - x_0y_2 - x_2y_0 - x_1y_1 - x_2y_3 - x_3y_2).$$

On the other hand, we have:

$$\begin{aligned} &(x_0 - \frac{x_1+x_2}{2} + x_3 + \frac{\sqrt{3}}{2}i(x_1 - x_2)) \cdot (y_0 - \frac{y_1+y_2}{2} + y_3 + \frac{\sqrt{3}}{2}i(y_1 - y_2)) = x_0y_0 + \frac{1}{4}(x_1y_1 + x_1y_2 + x_2y_1 + \\ &x_2y_2) - \frac{1}{2}(x_0y_1 + x_0y_2) + x_0y_3 + \frac{\sqrt{3}}{2}i(x_0y_1 - x_0y_2) - \frac{1}{2}(x_1y_3 + x_2y_3) - \frac{\sqrt{3}}{4}i(x_1y_1 - x_1y_2 + x_2y_1 - x_2y_2) - \\ &x_3y_0 - \frac{1}{2}(x_3y_1 + x_3y_2) + x_3y_3 + \frac{\sqrt{3}}{2}i(x_3y_1 - x_3y_2) + \frac{\sqrt{3}}{2}i(x_1y_0 - x_2y_0) - \frac{\sqrt{3}}{4}i(x_1y_1 + x_1y_2 - x_2y_1 - x_2y_2) + \\ &\frac{\sqrt{3}}{2}i(x_1y_3 - x_2y_3) - \frac{3}{4}(x_1y_1 - x_1y_2 - x_2y_1 + x_2y_2) - \frac{1}{2}(x_1y_0 + x_2y_0) = x_0y_0 - \frac{1}{2}(x_0y_1 + x_1y_0 + x_1y_1 + \\ &x_2y_2 + x_0y_2 + x_3y_1 + x_3y_2 + x_2y_0 + x_1y_3 + x_2y_3) + (x_0y_3 + x_3y_0 + x_1y_2 + x_2y_1 + x_3y_3) + \frac{\sqrt{3}}{2}i(x_0y_1 - \\ &x_0y_2 + x_3y_1 - x_3y_2 + x_1y_3 - x_2y_3 + x_1y_0 - x_2y_0 - \frac{x_1y_1}{2} + \frac{x_1y_2}{2} - \frac{x_2y_1}{2} + \frac{x_2y_2}{2} - \frac{x_1y_1}{2} - \frac{x_1y_2}{2} + \frac{x_2y_1}{2} + \frac{x_2y_2}{2}) = \\ &f(x)f(y), \end{aligned}$$

hence f is a homomorphism.

Let $X = x_0 + \sum_{i=1}^3 x_i I_i \in \ker(f)$, then $f(x) = (0,0,0)$.

$$\begin{cases} x_0 = 0 \\ x_1 + x_2 + x_3 = 0 \\ -\frac{x_1+x_2}{2} + x_3 + \frac{\sqrt{3}}{2}i(x_1 - x_2) = 0 \end{cases} \Rightarrow \begin{cases} x_0 = 0 \\ x_1 + x_2 + x_3 = 0 \\ -\frac{1}{2}(x_1 + x_2) + x_3 = 0 \\ x_1 - x_2 = 0 \end{cases} \Rightarrow \begin{pmatrix} 1 & 1 & 1 \\ -\frac{1}{2} & -\frac{1}{2} & 1 \\ 1 & -1 & 0 \end{pmatrix} \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix} \Leftrightarrow A \cdot X = 0.$$

$\det A = 3 \neq 0$, then A is invertible, which implies that the previous system has zero as unique solution, hence $\ker(f) = \{0\}$, and f is injective.

To prove that f is surjective; we take an arbitrary element $(y_0, y_1, y_2) \in Q \times Q \times Q(i\sqrt{3})$, and we must find $x \in Q_3(I)$ such that $f(x) = y$.

First, $y_2 = y_2' + y_2'' \frac{\sqrt{3}}{2} i \in Q(\sqrt{3}i)$, take:

$$X = y_0 + [\frac{1}{2}y_1 - \frac{1}{2}y_2' + \frac{1}{2}y_2'']I_1 + [\frac{1}{3}y_1 - \frac{1}{3}y_2' - \frac{1}{2}y_2'']I_2 + [\frac{1}{3}y_1 - y_0 + \frac{2}{3}y_2']I_3 \in Q_3(I).$$

$f(x) = (N_0, N_1, N_2)$, such that:

$$N_0 = y_0, N_1 = y_0 + (\frac{1}{3}y_1 - \frac{1}{3}y_2' + \frac{1}{2}y_2'') + (\frac{1}{3}y_1 - \frac{1}{3}y_2' - \frac{1}{2}y_2'') + (\frac{1}{3}y_1 - y_0 + \frac{2}{3}y_2') = y_1,$$

$$N_2 = y_0 - \frac{1}{2}[\frac{1}{3}y_1 - \frac{1}{3}y_2' + \frac{1}{2}y_2'' + \frac{1}{3}y_1 - \frac{1}{3}y_2' - \frac{1}{2}y_2''] + [\frac{1}{3}y_1 - y_0 + \frac{2}{3}y_2'] + \frac{\sqrt{3}}{2}i[\frac{1}{3}y_1 - \frac{1}{3}y_2' + \frac{1}{2}y_2'' - \frac{1}{3}y_1 + \frac{1}{3}y_2' + \frac{1}{2}y_2''] = y_2' + \frac{\sqrt{3}}{2}i y_2'' = y_2.$$

Thus, f is surjective, and then it is an isomorphism.

Remark:

The inverse isomorphism of f is:

$$f^{-1}: Q \times Q \times Q(\sqrt{3}i) \rightarrow Q_3(I):$$

$$f^{-1}(y_0, y_1, y_2' + y_2'' \frac{\sqrt{3}}{2} i) = y_0 + [\frac{1}{3}y_1 - \frac{1}{3}y_2' + \frac{1}{2}y_2'']I_1 + [\frac{1}{3}y_1 - \frac{1}{3}y_2' - \frac{1}{2}y_2'']I_2 + [\frac{1}{3}y_1 - y_0 + \frac{2}{3}y_2']I_3.$$

Result:

The 3-cyclic refined group of units of $Q_3(I)$ is isomorphic to $Q^* \times Q^* \times (Q(\sqrt{3}i))^*$.

Result:

A 3-cyclic refined rational number $X = x_0 + x_1I_1 + x_2I_2 + x_3I_3$ is invertible if and only if: $x_0 \neq 0, x_0 + x_1 + x_2 + x_3 \neq 0, x_0 - \frac{x_1+x_2}{2} + x_3 \neq 0$, with $x_1 - x_2 \neq 0$.

Example:

Consider $X = \frac{1}{2} + I_1 - \frac{1}{2}I_2 - I_3$, X is not a unit, that is because $x_0 + x_1 + x_2 + x_3 = \frac{1}{2} + 1 - \frac{1}{2} - 1 = 0$.

For $Y = 3 + 2I_1 + 2I_2 - I_3$ is not invertible, that is because: $x_1 - x_2 = 2 - 2 = 0, x_0 - \frac{x_1+x_2}{2} + x_3 = 3 - 2 - 1 = 0$.

Theorem:

Let R be the real field, $R_3(I)$ be the corresponding 3-cyclic refined real ring, then $R_3(I) \cong R \times R \times \mathbb{C}$.

Proof:

By defining a similar function $f: R_3(I) \rightarrow R \times R \times \mathbb{C}$ with $f(x_0 + x_1I_1 + x_2I_2 + x_3I_3) = (x_0, x_0 + x_1 + x_2 + x_3, x_0 - \frac{x_1+x_2}{2} + x_3 + i \frac{\sqrt{3}}{2}(x_1 - x_2))$ where $x_i \in R$.

We get by a similar discussion that f should be a ring isomorphism, which implies the proof.

Result:

The group of units of the 3-cyclic refined real ring is isomorphic to $R^* \times R^* \times \mathbb{C}^*$, that holds directly from the previous theorem.

Applications to ideals:

The classification theorems of $Q_3(I), R_3(I)$ will be very helpful in finding all ideals of those rings. It is sufficient to find all ideals in $f(Q_3(I))$ or $f(R_3(I))$ and going back by the inverse isomorphism.

Lemma:

- 1) The ring $Q \times Q \times Q(\sqrt{3}i)$ has exactly 6 different ideals up to isomorphism.
- 2) The ring $R \times R \times \mathbb{C}$ has exactly 8 different ideals up to isomorphism.

Proof:

Since $Q, Q(\sqrt{3}i)$ are fields, then they have only two ideals $I_Q = \{\{0\}, Q\}, I_{Q(\sqrt{3}i)} = \{\{0\}, Q(\sqrt{3}i)\}$, thus the ideals of $Q \times Q \times Q(\sqrt{3}i)$ are:

$$I_1 = \{0\} \times \{0\} \times \{0\}, I_2 = \{0\} \times \{0\} \times Q(\sqrt{3}i)$$

$$I_3 = Q \times \{0\} \times \{0\}, I_4 = Q \times \{0\} \times Q(\sqrt{3}i)$$

$$I_5 = \{0\} \times Q \times \{0\}, I_6 = \{0\} \times Q \times Q(\sqrt{3}i)$$

$$I_7 = Q \times Q \times \{0\}, I_8 = Q \times Q \times Q(\sqrt{3}i)$$

By a similar discussion to (1), we get:

$$I_1 = \{0\} \times \{0\} \times \{0\}, I_2 = \{0\} \times \{0\} \times \mathbb{C}$$

$$I_3 = R \times \{0\} \times \{0\}, I_4 = R \times \{0\} \times \mathbb{C}$$

$$I_5 = \{0\} \times R \times \{0\}, I_6 = \{0\} \times R \times \mathbb{C}$$

$$I_7 = R \times R \times \{0\}, I_8 = R \times R \times \mathbb{C}$$

Remark:

For $Q \times Q \times Q(\sqrt{3}i)$, we can see that:

$$I_3 \cong I_5, I_4 \cong I_6.$$

For $R \times R \times \mathbb{C}$, we can see that:

$$I_3 \cong I_5, I_4 \cong I_6.$$

So that, both rings have 6 different ideals up to isomorphism.

Theorem:

The 3-cyclic refined rational ring $Q_3(I)$ has exactly 6 different ideals up to isomorphism.

Proof:

Since $Q_3(I) \cong Q \times Q \times Q(\sqrt{3}i)$, then they have isomorphic ideals, which means that $Q_3(I)$ has 6 different ideals up to isomorphism.

Now, we find all the ideals in $Q_3(I)$.

$$J_1 = f^{-1}(\Gamma_1) = \{0\}, J_8 = f^{-1}(\Gamma_8) = Q_3(I).$$

$$J_2 = f^{-1}(\Gamma_2) = \{(-\frac{1}{3}y_2' + \frac{1}{2}y_2'') I_1 + (-\frac{1}{3}y_2' - \frac{1}{2}y_2'') I_2 + \frac{2}{3}y_2' I_3; y_2', \frac{1}{2}y_2'' \in Q\}$$

$$J_7 = f^{-1}(\Gamma_7) = \{y_0 + \frac{1}{3}y_1 I_1 + \frac{1}{3}y_1 I_2 + (\frac{1}{3}y_1 - y_0) I_3; y_1, y_0 \in Q\}$$

$$J_3 = f^{-1}(\Gamma_3) = \{y_0 - y_0 I_3; y_0 \in Q\}$$

$$J_5 = f^{-1}(\Gamma_5) = \{\frac{1}{3}y_1 I_1 + \frac{1}{3}y_1 I_2 + \frac{1}{3}y_1 I_3; y_1 \in Q\} \cong J_3$$

$$J_4 = f^{-1}(\Gamma_4) = \{y_0 + (-\frac{1}{3}y_2' + \frac{1}{2}y_2'') I_1 + (-\frac{1}{3}y_2' - \frac{1}{2}y_2'') I_2 + (-y_0 + \frac{2}{3}y_2') I_3; y_0, y_2', y_2'' \in Q\}$$

$$J_6 = f^{-1}(\Gamma_6) = \{(\frac{1}{3}y_1 - \frac{1}{3}y_2' + \frac{1}{2}y_2'') I_1 + (\frac{1}{3}y_1 - \frac{1}{3}y_2' - \frac{1}{2}y_2'') I_2 + (\frac{1}{3}y_1 + \frac{2}{3}y_2') I_3; y_1, y_2', y_2'' \in Q\} \cong J_4$$

By a similar approach, we can find all ideals in $R_3(I)$.

Theorem:

Let Q be the rational field, $Q_4(I)$ be the corresponding 4-cyclic refined ring, then $Q_4(I) \cong Q \times Q \times Q \times Q(i)$.

Proof:

We define the mapping $f: Q_4(I) \rightarrow Q \times Q \times Q \times Q(i)$, where

$$f(x_0 + x_1 I_1 + x_2 I_2 + x_3 I_3 + x_4 I_4) = (x_0, x_0 + x_1 + x_2 + x_3 + x_4, x_0 - x_1 + x_2 - x_3 + x_4, x_0 + ix_1 - x_2 - ix_3 + x_4).$$

(f) is well defined:

For $X = x_0 + x_1 I_1 + x_2 I_2 + x_3 I_3 + x_4 I_4 = Y = y_0 + y_1 I_1 + y_2 I_2 + y_3 I_3 + y_4 I_4$, we have $x_i = y_i$ for all $0 \leq i \leq 4$, thus:

$$\begin{cases} x_0 = y_0 \\ x_0 + x_1 + x_2 + x_3 + x_4 = y_0 + y_1 + y_2 + y_3 + y_4 \\ x_0 - x_1 + x_2 - x_3 + x_4 = y_0 - y_1 + y_2 - y_3 + y_4 \\ x_0 + ix_1 - x_2 - ix_3 + x_4 = y_0 + iy_1 - y_2 - iy_3 + y_4 \end{cases}$$

Thus $f(x) = f(y)$.

f preserves addition and multiplication, that is because:

For $X = x_0 + \sum_{i=1}^4 x_i I_i, Y = y_0 + \sum_{i=1}^4 y_i I_i$, then

$$X + Y = (x_0 + y_0) + \sum_{i=1}^4 (x_i + y_i) I_i,$$

$$f(x + y) = (M_0, M_1, M_2, M_3); M_0 = x_0 + y_0,$$

$$M_1 = x_0 + y_0 + x_1 + y_1 + x_2 + y_2 + x_3 + y_3 + x_4 + y_4$$

$$M_2 = x_0 + y_0 - (x_1 + y_1) + (x_2 + y_2) - (x_3 + y_3) + (x_4 + y_4)$$

$$M_3 = x_0 + y_0 + i(x_1 + y_1) - (x_2 + y_2) - i(x_3 + y_3) + (x_4 + y_4)$$

So that $f(x + y) = f(x) + f(y)$.

$$X \cdot Y = x_0 y_0 + (x_0 y_1 + x_1 y_0 + x_1 y_4 + x_4 y_1 + x_3 y_2 + x_2 y_3) I_1 + (x_0 y_2 + x_2 y_0 + x_1 y_1 + x_2 y_4 + x_4 y_2 + x_3 y_3) I_2 + I_3(x_0 y_3 + x_3 y_0 + x_1 y_2 + x_2 y_1 + x_3 y_4 + x_4 y_3) + (x_0 y_4 + x_4 y_0 + x_1 y_3 + x_3 y_1 + x_2 y_2 + x_4 y_4) I_4.$$

$$f(x \cdot y) = (N_0, N_1, N_2, N_3); N_0 = x_0 y_0,$$

$$N_1 = x_0 y_0 + x_0 y_1 + x_1 y_0 + x_1 y_4 + x_4 y_1 + x_3 y_2 + x_2 y_3 + x_0 y_2 + x_2 y_0 + x_1 y_1 + x_2 y_4 + x_4 y_2 + x_3 y_3 + x_0 y_3 + x_3 y_0 + x_1 y_2 + x_2 y_1 + x_3 y_4 + x_4 y_3 + x_0 y_4 + x_4 y_0 + x_1 y_3 + x_3 y_1 + x_2 y_2 + x_4 y_4 = (x_0 + x_1 + x_2 + x_3 + x_4)(y_0 + y_1 + y_2 + y_3 + y_4)$$

$$N_2 = x_0 y_0 - (x_0 y_1 + x_1 y_0 + x_1 y_4 + x_4 y_1 + x_3 y_2 + x_2 y_3) + (x_0 y_2 + x_2 y_0 + x_1 y_1 + x_2 y_4 + x_4 y_2 + x_3 y_3) - (x_0 y_3 + x_3 y_0 + x_1 y_2 + x_2 y_1 + x_3 y_4 + x_4 y_3) + (x_0 y_4 + x_4 y_0 + x_1 y_3 + x_3 y_1 + x_2 y_2 + x_4 y_4) = (x_0 - x_1 + x_2 - x_3 + x_4)(y_0 - y_1 + y_2 - y_3 + y_4).$$

$$N_3 = x_0 y_0 + i(x_0 y_1 + x_1 y_0 + x_1 y_4 + x_4 y_1 + x_3 y_2 + x_2 y_3) - (x_0 y_2 + x_2 y_0 + x_1 y_1 + x_2 y_4 + x_4 y_2 + x_3 y_3) - i(x_0 y_3 + x_3 y_0 + x_1 y_2 + x_2 y_1 + x_3 y_4 + x_4 y_3) + (x_0 y_4 + x_4 y_0 + x_1 y_3 + x_3 y_1 + x_2 y_2 + x_4 y_4) = (x_0 + ix_1 - x_2 - ix_3 + x_4)(y_0 + iy_1 - y_2 - iy_3 + y_4).$$

Thus $f(x \cdot y) = f(x) \cdot f(y)$.

$\ker(f) = \{X = x_0 + x_1 I_1 + x_2 I_2 + x_3 I_3 + x_4 I_4 \in Q_4(I); f(x) = (0,0,0,0)\}$, which implies

$$\begin{cases} x_0 = 0 \\ x_0 + x_1 + x_2 + x_3 + x_4 = 0 \\ -x_1 + x_2 - x_3 + x_4 = 0 \\ i(x_1 - x_3) + (-x_2 + x_4) = 0 \end{cases}$$

The previous linear system equivalents:

$$\begin{pmatrix} 1 & 1 & 1 & 1 \\ -1 & 1 & -1 & 1 \\ 0 & -1 & 0 & 1 \\ 1 & 0 & -1 & 0 \end{pmatrix} \begin{pmatrix} x_1 \\ x_2 \\ x_3 \\ x_4 \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \\ 0 \\ 0 \end{pmatrix} \Leftrightarrow A.X = 0.$$

det A = 8 ≠ 0, thus A is invertible and the system has a unique zero solution, so that $x_1 = x_2 = x_3 = x_4 = 0$ and ker (f) = {0}, and f is injective.

To prove that f is surjective, we must find an element

$X = x_0 + x_1I_1 + x_2I_2 + x_3I_3 + x_4I_4$ such that $f(x) = (y_0, y_1, y_2, y_3, y_4i)$ for any $y_0, y_1, y_2, y_3, y_4 \in Q$.

We put $X = y_0 + (\frac{1}{4}y_1 - \frac{1}{4}y_2 + \frac{1}{2}y_4)I_1 + (\frac{1}{4}y_1 + \frac{1}{4}y_2 - \frac{1}{2}y_0 - \frac{1}{2}y_3)I_2 + (\frac{1}{4}y_1 - \frac{1}{4}y_2 - \frac{1}{2}y_4)I_3 + (\frac{1}{4}y_1 + \frac{1}{4}y_2 - \frac{1}{2}y_0 + \frac{1}{2}y_3)I_4$.

$f(x) = (L_0, L_1, L_2, L_3); L_0 = y_0, L_p = y_0 + (\frac{1}{4}y_1 - \frac{1}{4}y_2 + \frac{1}{2}y_4) + (\frac{1}{4}y_1 + \frac{1}{4}y_2 - \frac{1}{2}y_0 - \frac{1}{2}y_3) + (\frac{1}{4}y_1 - \frac{1}{4}y_2 - \frac{1}{2}y_4) + (\frac{1}{4}y_1 + \frac{1}{4}y_2 - \frac{1}{2}y_0 + \frac{1}{2}y_3) = y_1$

$L_2 = y_0 - (\frac{1}{4}y_1 - \frac{1}{4}y_2 + \frac{1}{2}y_4) + (\frac{1}{4}y_1 + \frac{1}{4}y_2 - \frac{1}{2}y_0 - \frac{1}{2}y_3) - (\frac{1}{4}y_1 - \frac{1}{4}y_2 - \frac{1}{2}y_4) + (\frac{1}{4}y_1 + \frac{1}{4}y_2 - \frac{1}{2}y_0 + \frac{1}{2}y_3) = y_2$.

$L_3 = y_0 + i(\frac{1}{4}y_1 - \frac{1}{4}y_2 + \frac{1}{2}y_4) - (\frac{1}{4}y_1 + \frac{1}{4}y_2 - \frac{1}{2}y_0 - \frac{1}{2}y_3) - i(\frac{1}{4}y_1 - \frac{1}{4}y_2 - \frac{1}{2}y_4) + (\frac{1}{4}y_1 + \frac{1}{4}y_2 - \frac{1}{2}y_0 + \frac{1}{2}y_3) = y_3 + y_4i$

Thus $f(x) = (y_0, y_1, y_2, y_3 + y_4i)$ and f is surjective.

So that f is a ring isomorphism and the proof is complete.

Result:

The 4-cyclic group of unit of $Q_4(I)$ is isomorphic to $Q^* \times Q^* \times Q^* \times (Q(i))^*$.

Theorem:

Let $R_4(I)$ be the 4-cyclic refined ring of reals, then:

$$R_4(I) \cong R \times R \times R \times \mathbb{C}$$

The proof holds directly by defining a similar mapping of the previous theorem.

Result:

The group of units of the 4-cyclic refined ring of reals is isomorphic to $R^* \times R^* \times R^* \times C^*$.

Remark:

A 4-cyclic refined real number $X = x_0 + x_1I_1 + x_2I_2 + x_3I_3 + x_4I_4$ is invertible if and only if: $x_0 \neq 0, x_0 + x_1 + x_2 + x_3 + x_4 \neq 0, x_0 - x_1 + x_2 - x_3 + x_4 \neq 0, (x_1 - x_3 \neq 0 \text{ with } x_0 - x_2 + x_4 \neq 0)$:

For example $X = 2 + I_1 + I_2 - 3I_3 - I_4$ is not invertible, that is because $2+1+1-3-1=0$.

3. Conclusion

In this paper, we have proved the following results about the classification of Von Shtawzen's 3-cyclic and 4-cyclic refined neutrosophic groups in rational and real cases:

- The group of units of the 3-cyclic refined real ring is isomorphic to $R^* \times R^* \times C^*$, that holds directly from the previous theorem.
- The 3-cyclic refined group of units of $Q_3(I)$ is isomorphic to $Q^* \times Q^* \times (Q(\sqrt{3}i))^*$.
- The 4-cyclic group of unit of $Q_4(I)$ is isomorphic to $Q^* \times Q^* \times Q^* \times (Q(i))^*$.
- The group of units of the 4-cyclic refined ring of reals is isomorphic to $R^* \times R^* \times R^* \times C^*$.

In the future, we aim to find the classification of Von Shtawzen's group in the general case of n-cyclic refined neutrosophic real/rational neutrosophic rings.

References

[1] Basheer, A., Ahmad, K., and Ali, R., " A Short Contribution To Von Shtawzen's Abelian Group In n-Cyclic Refined Neutrosophic Rings", Journal Of Neutrosophic And Fuzzy Systems,, 2022.

[2] Von Shtawzen, O., " Conjectures For Invertible Diophantine Equations Of 3-Cyclic and 4-Cyclic Refined Integers", Journal Of Neutrosophic And Fuzzy Systems, Vol.3, 2022.

[3] Von Shtawzen, O., " On A Novel Group Derived From A Generalization Of Integer Exponents and Open Problems", Galoitica journal Of Mathematical Structures and Applications, Vol 1, 2022.

[4] Basheer, A., Ahmad, K., and Ali, R., " On Some Open Problems About n-Cyclic Refined Neutrosophic Rings and Number Theory", Journal Of Neutrosophic And Fuzzy Systems,, 2022.

[5] A. Alrida Basheer , Katy D. Ahmad , Rozina Ali., "Examples on Some Novel Diophantine Equations Derived from the Group of Units Problem in n-Cyclic Refined Neutrosophic Rings of Integers", Galoitica Journal Of Mathematical Structures And Applications, Vol.3, 2022.

[6] Sankari, H., and Abobala, M., " On The Group of Units Classification In 3-Cyclic and 4-cyclic Refined Rings of Integers And The Proof of Von Shtawzens' Conjectures", International Journal of Neutrosophic Science, 2023.

- [7] Sankari, H., and Abobala, M., " On The Classification of The Group of Units of Rational and Real 2-Cyclic Refined Neutrosophic Rings", Neutrosophic Sets and Systems, 2023.
- [8] Sankari, H., and Abobala, M., " On The Algebraic Homomorphisms Between Symbolic 2-plithogenic Rings And 2-cyclic Refined Rings", Neutrosophic Sets and Systems, 2023.
- [9] D. G. Northcott, Lessons on Rings, Modules, and Multiplicities, Cambridge Univ. Press, Cambridge, 1968.
- [10] A. G. Aghagholi, D. D. Anderson and S. Valdes-Leon, Factorization in commutative rings with zero divisors, III, Rocky Mountain J. Math. 31 (2001), 1–21.
- [11] D. D. Anderson and R. Markanda, Unique factorization rings with zero divisors, Houston J. Math. 11 (1985), 15–30.
- [12] Abobala, M., " n-Cyclic Refined Neutrosophic Algebraic Systems of Sub-Indeterminacies, An Application to Rings and Modules", International Journal of Neutrosophic Science, 2020.